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To compute transition rates to final states of nearly degenerate
energies
-> density of final states .

Consider
,
for example, the emission of a particle ->
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How do we understand this in terms of Fermi-

Golden rule ?
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The point is : how many states do we have with
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In case of more than one particle
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2) Hidrogen Atom

At t = -a - ground state

An electric field is turned on at -- and

has the form
E(t)=

What is the probability of finding the atom in a state with

n = 2 at t= + 0 ?
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we need to complete <MEli) where
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The total probability to jump in day n-2 state is then

Pgs - ner (t + 0) =(e)
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Thewave function for the ground state of the expanded
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H(tritium)
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+
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sudden approx. can be used
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The probability to fall into the ground state
of Helium is
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solving the exact problem (in ,
out
, noemalization,

bounddries ... OM 4)
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Della potential

The Sudden approximation is based on the anumption
thatg* HYCH) -

E- 0

this is true forsny "ryuelar" function HCt)

But 81t) has ne drea over an unitesimol internat.

=> Iot) #14o) in general

usng perturbation theory :
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